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5P. Prove that if a plane mirror is
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9E. A concave shaving mirror has a radius of curvarure of 35.0 cm.
It is positioned so that the (upright) image of a man’s face is .50

w»
times the size of the flu.HO\\'f:n’iSlﬁmmfmmﬂle face?
) 35
IR T 25 tm > F= Z o

mos o+ 2050, + meand whyight .





[image: image3.jpg]»353

13?. A beam of parallel light rays from a laser is incident on a solid

#3 transparent sphere of index of re- P
= fraction n (Fig. 35-31). (a) If a
/b 358 point image is produced at the
= Back of the sphere. what is the in-

dex of refraction of the sphere?
<b) What index of refraction. if
any. will produce a point image

at the center of the sphere? Fig. 35-31 Problem 13
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“® A doubleconvex lens is to be made of glass with an index of
#)9 «fraction of 1.5. One surface is to have twice the radius of cur-
— £ Yare of the other and the focal length is to be 60 mm. What are k2
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23P. An illuminated slide is held 44 cm from a screen. How far

B23 from the slide must a lens of focal length 11 cm be placed to form
— an image of the slide’s picture on the screea? 1w
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